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APPLICATIONS OF THE INTEGRALS

1. Find the area enclosed by the circle :

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D9dRbvI6fAXo

2. Find the area of region bounded by

The parabola y? = 4az and its latus rectum

o Watch Video Solution

3. Find the area of region bounded by

y2 =4x,zr =1, x =4 and x axis in the first

quadrant.

° Watch Video Solution



https://dl.doubtnut.com/l/_8HKHEkE9hjyn
https://dl.doubtnut.com/l/_2Sa2h72IVz5m

4.Find the area of the region founded by the curve

y = z” and the line y=4.

o Watch Video Solution

$2 2

5. Area of ellipse pel + 'Z—z =1,a > bis:

° Watch Video Solution

6. Find the area bounded by the ellipse

z? P
— + — =1 and the ordinates z =0 and

a? b2

T = ae, where b = a,2(1 — 62) ande < 1.



https://dl.doubtnut.com/l/_9XMtay4KtV0g
https://dl.doubtnut.com/l/_KcD4InQZDygr
https://dl.doubtnut.com/l/_THLnEQ5qTPje

‘ o Watch Video Solution

7. Find the area bounded by the region given by :

CL‘

Y’ L Yy

o Watch Video Solution

8. Using integration, find the region bounded by

the line 2y=-x+8, x-axis, and the lines x=2 and x=4.

o Watch Video Solution



https://dl.doubtnut.com/l/_THLnEQ5qTPje
https://dl.doubtnut.com/l/_WwA6RccrMC3V
https://dl.doubtnut.com/l/_N3H21ntyCvnD

9. Find the area of the region in the first quadrant
enclosed by the x-axis, the line y = z, and the

circle z° 4+ y* = 32.

o Watch Video Solution

10. Using integration, find the area of the region

bounded by : (-1,1), (0,5) and (3,2).

o Watch Video Solution



https://dl.doubtnut.com/l/_fF1z7snaoJQK
https://dl.doubtnut.com/l/_2ordg4bub3Vo

11. Using the method of integration, find the area
of the triangular region whose vertices are (2,-2),

(4,3) and (1,2).

o Watch Video Solution

12. Using the method of integration, find the area
of the region bounded by the lines : 3x-2y+1=0,

2x+3y-21=0 and x-5y+9=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_keZ8jSRXaBrr
https://dl.doubtnut.com/l/_QQeDKOZu6VRC

13. Smaller area enclosed by the circle z° + y* = 4

and thelinex +y = 2is:

o Watch Video Solution

14. Calculate the area of the region enclosed
between the circles : z*+y®=4 and

(z — 2)® + y? = 4 (using integration)

o Watch Video Solution



https://dl.doubtnut.com/l/_6exsUScH7f43
https://dl.doubtnut.com/l/_C1yYncO1sVvZ

15. Make a rough sketch of the region given below

and find its area, using integration

{(z,y):1% < 4z, 42? + 4y° < 9}

o Watch Video Solution

16. Using integration, find the area of the region
bounded by the parabola y*> = 4z and the circle :

4x® + 4y* = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_1MKNX46kJyqA
https://dl.doubtnut.com/l/_DMxx6MrgoXcK

17. Find the area lying above x-axis and included
between the circle 2 + y* = 8z and the parabola

y? = 4z

o Watch Video Solution

18. Find the area included between the curves

y?* = 4az and 2% = 4ay, a > 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_FHxy2ygINVZF
https://dl.doubtnut.com/l/_KbVcSkNfrZZj

19. Draw a rought sketch of y* =z + 1 and

y2 = — z + 1 and determine the are enclosed by

the two curves.

o Watch Video Solution

20. Find the area of the region bounded by the

curves y = 6z — z? and y = z° — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_pxv6G4b16nRJ
https://dl.doubtnut.com/l/_FG6zZ8Ypp7qR

2. Find the area of the region

{(m,y):0§y§w2,0§y§w—|—2,0§w§3}.

o Watch Video Solution

22. Find the area of the region bounded by the

curvey =2’ +2,y==x,z =0andz = 3

° Watch Video Solution

23. Using integration, find the area of the region:

{(w,y):]w—l\ <y< \/5—:132}.

[ - 1



https://dl.doubtnut.com/l/_fGOax9wA79jF
https://dl.doubtnut.com/l/_lvi3OSzVQLRC
https://dl.doubtnut.com/l/_3L1HLHRjOXkk

| o Watch Video Solution

24. Sketch the region bounded by the curves:

y = v/5 — z* and y=|x-1| and find its area, using

integration.

o Watch Video Solution

25. Using integration, find the area of the triangle
formed by positive x-axis and tangent and normal

to the circle 2° + y° = 4 at (1, /3).

o Watch Video Solution



https://dl.doubtnut.com/l/_3L1HLHRjOXkk
https://dl.doubtnut.com/l/_mMGkuqkOl6S1
https://dl.doubtnut.com/l/_W5qYChEZPwdu

26. Sketch the graph of:

{iaz—2\+2 r <2

) ) Evaluate
re — 2 Tz > 2

f(z) =
4
/ f(x)dz. What does the value of this integral
0

represent on the graph?

o Watch Video Solution

27. Find the area of the region bounded by the
curve ay2 = 3, the y-axis and the lines y=a and

y=2a.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ld7CWDGAZ2em
https://dl.doubtnut.com/l/_CVBZVDgSsdAU
https://dl.doubtnut.com/l/_24BkQ6F3hqCx

28. Find the area of the region bounded by the

parabola y?> = 2z and the straight line x-y=4.

° Watch Video Solution

1. Using integration, find the area of the circle

° Watch Video Solution



https://dl.doubtnut.com/l/_24BkQ6F3hqCx
https://dl.doubtnut.com/l/_jvfIGjeHF29k

2. Using integration, find the area of the circle

$2+y2:4

o Watch Video Solution

3. Find the area of the region bounded by the

curve y? = 4z and the line z = 3.

° Watch Video Solution

4. Using integration, find the area bounded

between the parabola 2 = 4y and the line y=4.



https://dl.doubtnut.com/l/_sF4ISFJ3IVK1
https://dl.doubtnut.com/l/_Rj4ObJ91Fvq8
https://dl.doubtnut.com/l/_TXb6rPUEqQWQ

| o Watch Video Solution

5.Find the area bounded by the curve y* = 2y —

and the Y-axis.

° Watch Video Solution

6. (i) Find the area bounded by y=2x+3, the x-axis

and the ordinates x=-2 and x=2.

o Watch Video Solution



https://dl.doubtnut.com/l/_TXb6rPUEqQWQ
https://dl.doubtnut.com/l/_kIlnLOm0zNrL
https://dl.doubtnut.com/l/_0Lj6HmCc4HGw

7.Find the area bounded by y=x, the x-axis and the

lines x=-1 and x=2.

o Watch Video Solution

8. Find the area of the region bounded by (i)

Yy = 334, x=1x=5 and x-axis.

° Watch Video Solution

9. Find the area of the region bounded by (ii)

Yy = 22 x=0x=2 and x-axis.



https://dl.doubtnut.com/l/_BK6kwsdNlaCX
https://dl.doubtnut.com/l/_PpXhz9V0xQwj
https://dl.doubtnut.com/l/_6BUgrRlQcKo1

| o Watch Video Solution

10. Find the area of the region bounded by (iii)

Y = z? — 4, x=0,x=3 and x-axis.

° Watch Video Solution

1. Find the area of the region bounded by (iv)

Yy = :c?’,x=2,x=4 and x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_6BUgrRlQcKo1
https://dl.doubtnut.com/l/_Y6y3fALESDlz
https://dl.doubtnut.com/l/_M5vD6qfCpXXl

12. Find the area of the region bounded by
y? =9z, = 2,z = 4 and the x-axis in the first

quadrant.

o Watch Video Solution

13. Find the area of the region bounded by

y = 4x%x=0,y=1y=4 in the first quadrant.

o Watch Video Solution



https://dl.doubtnut.com/l/_rfy77LA1LEiV
https://dl.doubtnut.com/l/_tMnZ4JUKw5ga

14. Calculate the area undder the curve : y = 2,/x

between the ordinates x=0 and x=1.

o Watch Video Solution

15. Find the area under the curve
2
Yy = (ac2 + 2) + 2x between the ordinates

r=0and z = 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_FBO7SwJsdQRK
https://dl.doubtnut.com/l/_8M0tZUBULyiB

16. Find the area of the region in the first quadrant
enclosed by x-axis, line z = (\/g)y and the circle

:1:2+y2:4.

o Watch Video Solution

17. Find the area of the smaller part of the circle

z? + y* = a® cut off by the line z = 2
2

o Watch Video Solution



https://dl.doubtnut.com/l/_gz07jGVWJaPK
https://dl.doubtnut.com/l/_72ikYl9JEMv9

18. (i) Determine the area under the curve
y = v/a? — 2% included between the lines x=0 and

X=a.

o Watch Video Solution

19. (ii) Using definite integrals, find the area of the

circle (z — 1)* + 3% = 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_vLn2s9DSQbra
https://dl.doubtnut.com/l/_65mkyw3X3p5Y

20. Determine the area enclosed between the curve

T
y=cos 2x,0 < z < 1 and the co-ordinate axes.

o Watch Video Solution

21. Calculate the area bounded by the curve:
f(z) = sin2<%), axis of x and the ordinates: x=0,

_7'('

o Watch Video Solution



https://dl.doubtnut.com/l/_5Gc88lh409rk
https://dl.doubtnut.com/l/_jLWOGLpyYs5z

22.Draw a rough sketch of the curve y = cos® z in
[0, 7] and find the area enclosed by the curve, the

lines x=0, z = 7 and the x-axis.

o Watch Video Solution

23. (i) Make a rough sketch of the graph of the
function y=sin x0 < z < % and determine the

area enlosed between the curve, the, the x-axis and

s

the i = —.
eliner = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_ZK88tA0QlyTR
https://dl.doubtnut.com/l/_NkYg08J9GtIc
https://dl.doubtnut.com/l/_qK6NtwKW2azb

24. (ii) Find the area bounded by the curve : (l)

y=sin x between x=0 and = = 2.

o Watch Video Solution

25. Find the area bounded by the curve y = cos

between r = 0, z = 2.

o Watch Video Solution

26. Find the slopes of the tangent and normal to

the curve given by : x=asin30 ,y =a cos30.

| o WMiabkl .\ dar CAlikla


https://dl.doubtnut.com/l/_qK6NtwKW2azb
https://dl.doubtnut.com/l/_YzqmVVE973P1
https://dl.doubtnut.com/l/_Bf0G5fvSFMLT
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27. (i) Make a rough sketch of the graph of the
function y=sin x0 < x < % and determine the

area enlosed between the curve, the, the x-axis and

s

the i = —.
elinex = 3

o Watch Video Solution

28. Draw a rough sketch of y =sin2z and
determine the area enclosed by the curve. X-axis

and the linesx = v /4 and x = 37 /4.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bf0G5fvSFMLT
https://dl.doubtnut.com/l/_WDgwIFaKxAwk
https://dl.doubtnut.com/l/_LuqnMUJeHy9a

29. (ii) Draw the graph of y=cos 3x,0 < z < % and

find the area between the curve and the axes.

° Watch Video Solution

30. Make a rough sketch of the graph of
Yy = cos? z,0 < x < g and find the area enclosed

between the curve and the axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_LuqnMUJeHy9a
https://dl.doubtnut.com/l/_cSEwbUZyxyza
https://dl.doubtnut.com/l/_3uUCkidRFqro

31. Using integration, find the area of the region
bounded by the circle z?+ y?> =16 and line

y = x in the first quadrant.

o Watch Video Solution

32. Find the area of the smaller part of the circle

z? + y* = a® cut off by the line z = 2
2

o Watch Video Solution



https://dl.doubtnut.com/l/_QDeWcytauhXP
https://dl.doubtnut.com/l/_ABX1XUiKiY0b

33. Find the area under the given curves and given

2

lines: y = x“,x = 1,x = 2 and x-axis

o Watch Video Solution

34. Draw a rough sketch of the curve y2 +1 =z,
x < 2.Find the area enclosed by the curve and the

line x=2.

o Watch Video Solution



https://dl.doubtnut.com/l/_6mweDqIkN2JA
https://dl.doubtnut.com/l/_1AsgY81evEwi

35. Find the area of the region bounded by the

2 2
x Y

lipse — + —
elipse 1

=1
9

o Watch Video Solution

36. Find the area of the region bounded by the

2 2

elipse Sl + i

2 -1
9 16

o Watch Video Solution

37. Find the area of the region bounded by the

ellipse : 4z + 25y* = 1.



https://dl.doubtnut.com/l/_t50WtQHw2vfS
https://dl.doubtnut.com/l/_nJiNmTSRaKyB
https://dl.doubtnut.com/l/_DAowRmdzzvWm

‘ o Watch Video Solution

22 yz
38. Find the area between the curve — —|— — =1

b2

and the x-axis between x=0 and x=a. Draw a rough

sketch of the curve also.

o Watch Video Solution

39. Sketch the region of the ellipse and find its area

2 2

using mtegratlon— + i

o

o Watch Video Solution



https://dl.doubtnut.com/l/_DAowRmdzzvWm
https://dl.doubtnut.com/l/_dUixcD9mifk5
https://dl.doubtnut.com/l/_IPoVHug09HYZ
https://dl.doubtnut.com/l/_24BPisfLw0WM

40. Sketch the region {(z,y):4z” + 9y*> = 36}

and find its area using integration.

° Watch Video Solution

41. Draw a rough sketch of the curves y = sinx

s
and y = cos x as x varies from O toE and find the

area enclosed by them find x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_24BPisfLw0WM
https://dl.doubtnut.com/l/_QJjRJzr0bo8I

42.Using integration, prove that the area bounded

by : |x|+|y|=1 is 2 sq.units.

o Watch Video Solution

43. Using integration, find the area of the region

bounded by: (i) (2,0),(4,5) and (6,3).

° Watch Video Solution

44, Using integration, find the area of the region

bounded by: (ii) (1,0),(2,2) and (3,1).



https://dl.doubtnut.com/l/_tV0hxNE8vR4P
https://dl.doubtnut.com/l/_V9nH2fJ5WOes
https://dl.doubtnut.com/l/_N2GXVA8p4lrx

| o Watch Video Solution

45. Using integration find the area of region
bounded by the triangle where vertices are : (-1,2),

(1,5) and (3,4)

o Watch Video Solution

46. Using integration, find the area of region of
triangle whose vertices are

(3,0),(4,5) and (5,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_N2GXVA8p4lrx
https://dl.doubtnut.com/l/_Mvv9LFTRIsBF
https://dl.doubtnut.com/l/_fcusvV25RdOZ

47. Using integration find the area of regeion
bounded by the triangle whose vertices are (-1,0),

(1,3) and (3,2)

o Watch Video Solution

48. Using integration find the area of region
bounded by the triangle where vertices are : (1,3),

(2,5) and (3,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_sVjwrC33OXCC
https://dl.doubtnut.com/l/_ssSLWcXqr4yg

49. Using integration find the area of region
bounded by the triangle where vertices are : (4,1),

(6,6) and (8,4)

o Watch Video Solution

50. Using integration find the area of region
bounded by the triangle where vertices are : (2,5),

(4,7) and (6,2)

° Watch Video Solution



https://dl.doubtnut.com/l/_EBZ5B4XAhRFH
https://dl.doubtnut.com/l/_PwBzUc4FLgKN

51. (a) Using integration, find the area of the region
bounded by the triangle whose sides are : (i) 3x-y-

3=0, 2x+y-12=0, x-2y-1=0.

o Watch Video Solution

52. (a) Using integration, find the area of the
region bounded by the triangle whose sides are :

(i) 5x-2y-10=0, x+y-9=0, 2x-5y=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_TDwZuX5E2jZW
https://dl.doubtnut.com/l/_guEMFlD1uam5

53. Using integration, find the area of the region
bounded by the triangle whose sides are

y=2r+1,y=3z+1 and z = 4.

o Watch Video Solution

54. (a) Using integration, find the area of the
region bounded by the triangle whose sides are :

(iv) 2x+y=4, 3x-2y=6 and x-3y+5=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_IPCQlUCifOga
https://dl.doubtnut.com/l/_9IH8eIMKPztg

55. (b) If a triangular field is bounded by the lines
x+2y=2, y-x=1 and 2x+y=7. Using integration,

compute the area of the field.

o Watch Video Solution

56. (b) If a triangular field is bounded by the lines
x+2y=2, yx=1 and 2x+y=7. Using integration,

compute the area of the field.

° Watch Video Solution



https://dl.doubtnut.com/l/_qb780HiglAQK
https://dl.doubtnut.com/l/_WpmmD5G2RMxW

57.Find the area of the region bounded by the line
y =3z + 2the x-axis and the ordinates

x= —1,z =1

o Watch Video Solution

58. Find the area of the region: (i)

{(CL‘,y)ZCB2 <y< CL‘}

° Watch Video Solution



https://dl.doubtnut.com/l/_W1hZST07nGVM
https://dl.doubtnut.com/l/_Np4BSkc9XtLv

59. Find the area of the region: (ii)

{(z,9):2” <y <|z|}.

o Watch Video Solution

60. Consider the functions: f(x)=|x|-1 and g(x)=1-|x|.
(a) Sketch their graphs and shade the closed

region between them

o Watch Video Solution



https://dl.doubtnut.com/l/_BpukNueZ2o3o
https://dl.doubtnut.com/l/_FCRjh1K8fJpy

61. Consider the functions: f(x)=[x|-1 and g(x)=1-|x].

(b) Find the area of their shaded region.

o Watch Video Solution

62. Using integration, find the area of the region
bounded between : (i) the line x=2 and the

parabola y* = 8z.

o Watch Video Solution



https://dl.doubtnut.com/l/_XSgaycSdgGAo
https://dl.doubtnut.com/l/_Nt9GaUHvt3Zj

63. Using integration, find the area of the region
bounded between : (ii) the line x=3 and the

parabola y? = 4z.

o Watch Video Solution

64. Find the area of the region bounded between
parabola y> =z and the line y=z (Using

integration).

° Watch Video Solution



https://dl.doubtnut.com/l/_ybmGrCrVFyco
https://dl.doubtnut.com/l/_8Jz0laDdUGET

65. Find the area of the region bounded by : (ii) the

parabola y> = z and the line x+y=2.

o Watch Video Solution

66. Find the area of the region bounded by the

curve z° = 4y and the straight line y = 4y — 2.

° Watch Video Solution

67. Find the area of region bounded by

The parabola y? = 4az and its chord y=mx



https://dl.doubtnut.com/l/_bKK9iFweFjrX
https://dl.doubtnut.com/l/_sS2tCcDrpMuh
https://dl.doubtnut.com/l/_V07zR4EhGQQH

| o Watch Video Solution

68. Find the area of region bounded by

The parabola y* = 4ax and its latus rectum

° Watch Video Solution

69. Find the area of the region bounded by the

parabola y* = 8z and the latus-rectum.

o Watch Video Solution



https://dl.doubtnut.com/l/_V07zR4EhGQQH
https://dl.doubtnut.com/l/_SdLeUHAYMtRk
https://dl.doubtnut.com/l/_TF5B0JuvZ0Gd

70. Find the area of the region enclosed by the

parabola z? = y, the liney = z + 2 and the x-axis.

o Watch Video Solution

71. The area between z = y? and z = 4is divided
into two equal parts by the line £ = a , find the

value of a.

o Watch Video Solution



https://dl.doubtnut.com/l/_9rLz3S7CeooQ
https://dl.doubtnut.com/l/_9CCMoDMMFnGb

72. Area lying between the curve y* = 4z and the

liney = 2x is :

o Watch Video Solution

73. Find the area bounded between the curve

y? = 4z and the lines x=3

o Watch Video Solution

74. Find the area of the region founded by the

curve y = 2 and the line y=4.



https://dl.doubtnut.com/l/_IlSNiKT4rjNY
https://dl.doubtnut.com/l/_P8M7Y9rXz0uK
https://dl.doubtnut.com/l/_GGUkycWMUNbU

| o Watch Video Solution

75. Find the area enclosed by the straight line

y =1z + 2and the curve 2 = y

° Watch Video Solution

76. Find the area bounded by the curve z? = 4y

and the line z = 4y — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_GGUkycWMUNbU
https://dl.doubtnut.com/l/_cs0o55pNigoT
https://dl.doubtnut.com/l/_pJ1lA7ApK9cn

77.Find the area of the smaller region bounded by

2 2
the eII|pse — + - iz = 1 and the straight line
— + b= 1 (using integration)
a

° Watch Video Solution

78.Find the area of the smaller region bounded by

132

2
the (ii) 1—4—% =1 and the straight line

3x+4y=12.

o Watch Video Solution



https://dl.doubtnut.com/l/_SrA9T4vm26jv
https://dl.doubtnut.com/l/_5KQHt2hXiBZg

79. Draw the rough sketch and find the area of the

region : {(z, y):da? +y® < 4,22z +y > 2}.

o Watch Video Solution

80. Draw the rough sketch and find the area of the

region : {(:13, y):16x* + y* < 16,4z +y > 4}.

° Watch Video Solution

81. Draw the rough sketch and find the area of

region bounded between the parabolas, y* = 4z


https://dl.doubtnut.com/l/_lx4OzoTwrWZk
https://dl.doubtnut.com/l/_v6SLCc8XQdqf
https://dl.doubtnut.com/l/_jbkXRxqc6uJ0

and z? = 4y by using integration.

o Watch Video Solution

82. Draw the rough sketch and find the area of
region bounded between the parabolas, y° = 9z

and z? = 9y by using integration.

° Watch Video Solution

83. Draw the rough sketch and find the area of
region bounded between the parabolas, y* = 16z

and z? = 16y by using integration.



https://dl.doubtnut.com/l/_jbkXRxqc6uJ0
https://dl.doubtnut.com/l/_s3CdezRkTJVK
https://dl.doubtnut.com/l/_3YOwo3jZFzgL

‘ o Watch Video Solution

84. (b) Find the ratio in which the area bounded by
the curves y* = 12z and z? = 12y is divided by

the line x=3.

o Watch Video Solution

85. Find the area of the region bounded between

parabolas y* = z and the line 2% = v.

° Watch Video Solution



https://dl.doubtnut.com/l/_3YOwo3jZFzgL
https://dl.doubtnut.com/l/_rjIfNywVfoWL
https://dl.doubtnut.com/l/_xWTu0pAkuJ5I
https://dl.doubtnut.com/l/_OXznQFMWlPaP

86. Find the area of region founded by two
parabolas :

y* = az and 2% = ay

o Watch Video Solution

87. Find the area of region founded by two

parabolas :
9 16
y2 = Za: and z2 = ?y

° Watch Video Solution



https://dl.doubtnut.com/l/_OXznQFMWlPaP
https://dl.doubtnut.com/l/_l3FfkXNUqSJV

88. Calculate the area of the region enclosed
between the «circles : z*+4+y*=1 and

(z — 1)® + y% = 1 (using integration)

o Watch Video Solution

89. Calculate the area of the region enclosed
between the circles : z®+y®=4 and

(z — 2)® + y? = 4 (using integration)

° Watch Video Solution



https://dl.doubtnut.com/l/_CMzdknYindkR
https://dl.doubtnut.com/l/_ckpccA2aZM8I

90. Calculate the area of the region enclosed
between the circles: (iii) 2 + y2 =9,

(z—3)°+y*=9

o Watch Video Solution

91. Calculate the area of the region enclosed
between the circles: (iv) (z — 6)2 + y* = 36and

z? +y* = 36

° Watch Video Solution



https://dl.doubtnut.com/l/_TCnbaWtekuHH
https://dl.doubtnut.com/l/_XevaIKNYy2Mb

92. (i) Show that the areas under the curves
f(z) = cos’z and f(z) = sin® z between x=0 and

xr = mare 1:1.

o Watch Video Solution

93. (i) Compare the areas under the curves

y = cos’ z and y = sin® z between x=0 and z = .

o Watch Video Solution



https://dl.doubtnut.com/l/_Hls7jzFANACl
https://dl.doubtnut.com/l/_pgDNgzAdhwjd

94. (a) (i)Find the area of the circle z? + y2 = 16,

which is exterior to the parabola y* = 6z.

o Watch Video Solution

95. Find the area of the circle 4% + 4y* = 9 which

is interior to the parabola 2 = 4.

° Watch Video Solution

96. (b) Find the area of the region bounded by the

circle 22 + y? = 16 and the parabola z? = 6y.



https://dl.doubtnut.com/l/_nQyCRW4Hnws7
https://dl.doubtnut.com/l/_tWV8qps4nVkl
https://dl.doubtnut.com/l/_4CItKC3HkUEd

| o Watch Video Solution

97.
find the area of region founded by the circle

z? +y? =landlinez +y =1

o Watch Video Solution

98. Make a rough sketch of the region given below
and find its area, using integration

{(ac, y):y? < dax, dz® + 4* < 9}

o Watch Video Solution



https://dl.doubtnut.com/l/_4CItKC3HkUEd
https://dl.doubtnut.com/l/_drP9cidvETZu
https://dl.doubtnut.com/l/_wNuYOwFxqHIz

99. Calculate the area enclosed in the region: (iii)

{(z,9):2° +y* <16,2° < 6y}

o Watch Video Solution

100. Calculate the area enclosed in the region: (iv)

{(a:, y):y* < 6azx, z° + y* < 16a2}.

° Watch Video Solution

101. Draw the rough sketch and find the area of the

region: (){(z,y):2°> <y < z + 2}

[ 1


https://dl.doubtnut.com/l/_f7hVU2hMBLtO
https://dl.doubtnut.com/l/_GHDtKLulQlQ4
https://dl.doubtnut.com/l/_IbDAAe6sBc4d

| o Watch Video Solution

102. Draw the rough sketch and find the area of the

region : {(z, y):da? +y® < 4,22 +y > 2}.

° Watch Video Solution

103. Find the area of the region

{(z,9):0<y<z"+1,0<y<z+10<z <2}

o Watch Video Solution



https://dl.doubtnut.com/l/_IbDAAe6sBc4d
https://dl.doubtnut.com/l/_0im6WV9aFWAW
https://dl.doubtnut.com/l/_3Ove57ZuUbWs

104. Draw the rough sketch and find the area of the
region: (iv)

{(z,y):2* +* < 20z,9* > az, 2,y > 0}

o Watch Video Solution

105. (i) Find the area of the region given by:

{(z,9):2° <y <|z|}.

° Watch Video Solution



https://dl.doubtnut.com/l/_pzX5L85RoIfr
https://dl.doubtnut.com/l/_s0pnaOwbjnVX

106. Find the area bounded by curves

{(z,y):y > z®and y = ||}

o Watch Video Solution

107. (iii) Find the area of the region bounded by the

parabola y = z% and y=|x|.

° Watch Video Solution

108. Using integration, find the area of the region

bounded by the following curves, after making a


https://dl.doubtnut.com/l/_ZoloE886YXVh
https://dl.doubtnut.com/l/_dEftobsp1IBB
https://dl.doubtnut.com/l/_oeHNUPZGqvux

rough sketch: (i) y=1+|x+1| x=-3,x=3,y=0.

o Watch Video Solution

109. Using integration, find the area of the region
bounded by the following curves, after making a

rough sketch:(ii) y=1+|x+1| x=-2,x=3,y=0.

° Watch Video Solution

110. Find the area of region bounded by the curve

y> = z and the lines ¢ = 1, z = 4 and the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_oeHNUPZGqvux
https://dl.doubtnut.com/l/_1dijhEi8ZrbV
https://dl.doubtnut.com/l/_pt3QkMFnQfvC

11. Find the area of the region bounded by
y? =9z, = 2,z = 4 and the x-axis in the first

quadrant.

o Watch Video Solution

12. Find the area of the region bounded by

2’ =4y, y =2,y =4 and the y-axis in the first

quadrant.

° Watch Video Solution



https://dl.doubtnut.com/l/_pt3QkMFnQfvC
https://dl.doubtnut.com/l/_79olWpVBJTwO
https://dl.doubtnut.com/l/_KtFXtLJvBgay
https://dl.doubtnut.com/l/_Q2A73DVI9IrR

113. Using integration find the area of region

22 Y2
bounded by the elli — + — =1
ounded by the ellipse 16 + 9

° Watch Video Solution

114. Find the area of region bounded by the ellipse

2 2
Wi
42
4

Z 1
9

° Watch Video Solution

115. Find the area of the region in the first

quadrant enclosed by x-axis, line z = (\/g)y and


https://dl.doubtnut.com/l/_Q2A73DVI9IrR
https://dl.doubtnut.com/l/_BO4fIFrN4QRP
https://dl.doubtnut.com/l/_i09cg7vBQRxo

the circle 2 + % = 4.

o Watch Video Solution

116. Find the area of the smaller part of the circle

z? + y? = a” cut off by the linez = 2

V2

o Watch Video Solution

117. The area between z = y? and = = 4is divided
into two equal parts by the line £ = a , find the

value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_i09cg7vBQRxo
https://dl.doubtnut.com/l/_50QWUSez8Guw
https://dl.doubtnut.com/l/_ZhccT95pRWiW

118. Find the area of the region bounded by the

parabolay = z? and y = |z|.

o Watch Video Solution

119. Find the area bounded by the curve z? = 4y

and the linez = 4y — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZhccT95pRWiW
https://dl.doubtnut.com/l/_cqt16Egipllu
https://dl.doubtnut.com/l/_xsHuBodvjpoW

120. Find the area of the region bounded by the

curve y* = 4z and the line z = 3.

o Watch Video Solution

121. Area lying in the first quadrant and bounded
by the circle £° + y® = 4 and the lines z = 0 and

r =2is:

w3 o3


https://dl.doubtnut.com/l/_BO65AC2gppwC
https://dl.doubtnut.com/l/_46WA4YnPfpkP

]

Answer:

o Watch Video Solution

122. Area of the region bounded by the curve

y® = 4z, y-axis and the liney = 3is

>
No

@

O N
N[O wlo | ©


https://dl.doubtnut.com/l/_46WA4YnPfpkP
https://dl.doubtnut.com/l/_ZV2GBXpmsWJ5

Answer:

° Watch Video Solution

123. Find the area of the circle 4z + 4y*> = 9

which is interior to the parabola z? = 4.

o Watch Video Solution

124. Find the area bounded by curves

(x—1)°%+9? =1landz® +¢* = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZV2GBXpmsWJ5
https://dl.doubtnut.com/l/_NZZOnuzFRzgX
https://dl.doubtnut.com/l/_V4DgqCejmuln

125. Find the area of the region bounded by the

curvey =2’ +2,y=z,z =0andz = 3

o Watch Video Solution

126. Using integration find the area of regeion
bounded by the triangle whose vertices are (-1,0),

(1,3) and (3,2)

o Watch Video Solution



https://dl.doubtnut.com/l/_IzxAK7t2VzzC
https://dl.doubtnut.com/l/_Q22P49VOFKcL

127. Using integration find the area of triangle
whose sides are given by the equations

y=22+1Ly=3x+ 1,z =4

o Watch Video Solution

128. Smaller area enclosed by the circle
z? + y*> = 4andthelinez + y = 2is:

A 2(m — 2)

B.m— 2

C.2r —1


https://dl.doubtnut.com/l/_OzynzSbOQfeI
https://dl.doubtnut.com/l/_x4YPQ14wBbvp

D.2(m + 2)

Answer:

o Watch Video Solution

129. Area lying between the curve y* = 4z and the

liney = 2x is :

B w R W~ w| N


https://dl.doubtnut.com/l/_x4YPQ14wBbvp
https://dl.doubtnut.com/l/_d5ESAOLLta53

Answer:

° Watch Video Solution

130. Find the area under the given curves and given

2

lines: y = z°, & = 1,z = 2 and x-axis

o Watch Video Solution

131. Find the area under the given curves and given

4

lines: y = 2™, = 1, = 5 and x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_d5ESAOLLta53
https://dl.doubtnut.com/l/_8g2MUlu2ABq9
https://dl.doubtnut.com/l/_0iPIPVFF5GiL

132. Find the area between the curves y = x and

y==

o Watch Video Solution

133. Find the area of the region lying in the first

quadrant and bounded by

° Watch Video Solution



https://dl.doubtnut.com/l/_mZKfILNgBAj2
https://dl.doubtnut.com/l/_3XmuZSGPQEYw

134. Sketch the graph of y = |z + 3| and evaluate

0
/ |z + 3|dx
—6

o Watch Video Solution

135. Find the area bounded by the curve y = sinz

between z = 0, and =z = 27

° Watch Video Solution

136. Find the area enclosed between the parabola

y? = 4az and the line y = mx



https://dl.doubtnut.com/l/_JKILLZu0Um83
https://dl.doubtnut.com/l/_PcMT9tMEIsks
https://dl.doubtnut.com/l/_wIrheWwZlhel

‘ ° Watch Video Solution

137. Find the area enclosed by the parabola

4y = 3z% and the line 2y = 3z + 12

o Watch Video Solution

138. Find the area of smaller region bounded by

2?2 o
the ellipse ?4— il 1 and straight line
x Y
— 4+ ==1
372

o Watch Video Solution



https://dl.doubtnut.com/l/_wIrheWwZlhel
https://dl.doubtnut.com/l/_Ok9nrYQoJqns
https://dl.doubtnut.com/l/_kzvP44WnREI3
https://dl.doubtnut.com/l/_PG3XjZsii4NJ

139. Find the area of the smaller region bounded
22

by the ellipse — + — =1 and the line
a? b

L

b

z .Y
a

o Watch Video Solution

140. Find the area of the region enclosed by the

parabola 2 = y, the liney = z + 2 and the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_PG3XjZsii4NJ
https://dl.doubtnut.com/l/_LakbkrtieMIM

141. Using the method of integration find the area

bounded by the curve |z| + |y| = 1

o Watch Video Solution

142. Find the area bounded by curves

{(z,y):y > z*and y = |z|}

° Watch Video Solution

143. Using integration, find the area of the triangle

ABC, co ordinate of whose vertics are A(2,0),B(4,5)


https://dl.doubtnut.com/l/_wmS447e5Di35
https://dl.doubtnut.com/l/_qL6q2uTguGaV
https://dl.doubtnut.com/l/_St8zU3Cq9PIN

and C(6,3).

o Watch Video Solution

144. Using the method of integration find the area
of the region bounded by lines:

2r +y=4,3x —2y=6,x —3y+5=0

° Watch Video Solution

145. Make a rough sketch of the region given below
and find its area, using integration

{(a:, y):y? < dax, dz® + 4y* < 9}



https://dl.doubtnut.com/l/_St8zU3Cq9PIN
https://dl.doubtnut.com/l/_obRPulY0dWGa
https://dl.doubtnut.com/l/_pWOtI7GBIw0B

‘ o Watch Video Solution

146. Area bounded by the curve y = z*, the x-axis

and the ordinatesz = -2, x = 1is:

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pWOtI7GBIw0B
https://dl.doubtnut.com/l/_znveIBxDIeUO

147. The area bounded by the curve y = z|z|x-axis

and the ordinates x = — 1,z = 1lis given by:

0N ® >
o

O
Wk Wl W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZFOCQEHPw8zg

148. (a) (i)Find the area of the circle z? + y2 = 16,

which is exterior to the parabola y* = 6z.

(4~ V)
(47 + 1/3)
(s V)

c.o|q> w|q> C.O|1-l> wlph

(87 + v/3)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_IAFIKWKwrh5q

149. The area bounded by the y-axis, y = cos =, and

y = sinx when O

A.2(v/2-1)
B.y/2 — 1
C.v/2+1
D. v/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3V1tGWQflMn

150. Find the area of the region bounded by the

parabolas y* = 6z and z* = 6.

o Watch Video Solution

151. Find the area of the region bounded by the
curves z = at’ and y=2at between the ordinates

corresponding to t=1and t=2.

o Watch Video Solution



https://dl.doubtnut.com/l/_HxNWsM8fCz0U
https://dl.doubtnut.com/l/_Tg33lgLsRRV6

152. Find the area enclosed by the curve : x=3 cos t,

y=2 sin t.

o Watch Video Solution

153. Find the area enclosed by the parabola

4y = 3z% and the line 2y = 3z + 12

° Watch Video Solution

154. Find the area of the region bounded by the

curve y? = 4z and the line z = 3.



https://dl.doubtnut.com/l/_B01J7KqjEGHu
https://dl.doubtnut.com/l/_KLLdErWb0h5W
https://dl.doubtnut.com/l/_YuY3Yflzhr6W

| o Watch Video Solution

155. Prove that the curves y? = 4z, 2% = 4y, divide
the area of the square bounded by

x =0,z =4,y =4,y = 0into three equal parts.

o Watch Video Solution

156. Draw the diagram to show the area enclosed
by the -curves: y?* = 16z and z? = 16y. The
straight line x=4 divides the area of the larger

portion by integration.

| o Watch Video Solution


https://dl.doubtnut.com/l/_YuY3Yflzhr6W
https://dl.doubtnut.com/l/_aGKrMZ53MLEs
https://dl.doubtnut.com/l/_VZ8LtAJNlZqz

157. AOBA is the part of the ellipse 9z + y* = 36
in the first quadrant such that OA=2 and OB=6. Find

the area between the arc AB and the chord AB.

° Watch Video Solution

158. Calculate the area of the region enclosed
between the «circles : z°+4+y*=1 and

(z —1)® + y? = 1 (using integration)

o Watch Video Solution



https://dl.doubtnut.com/l/_VZ8LtAJNlZqz
https://dl.doubtnut.com/l/_9NHSY4kzWXHB
https://dl.doubtnut.com/l/_5nwd0O0iyqJU
https://dl.doubtnut.com/l/_LQ5G9hmp1tiB

159. Draw a rough sketch of the following region
and find the area enclosed by the region, using
method of integration:

{(z,y):y° < 5z, 5z° + 5y” < 36}.

° Watch Video Solution

160. Find the area bounded by

y =1+ 2sin’ 2, X-axis, X = 0and z = 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_LQ5G9hmp1tiB
https://dl.doubtnut.com/l/_sbbvcYD7zFfL

161. Is the parabola y? = 4z symmetrical about x-

axis?

o Watch Video Solution

162. Is the circle z* + y*> = r* symmetrical about

the line y=x?

o Watch Video Solution

163. Find the area enclosed by the circle

2 4+ y? = 0.



https://dl.doubtnut.com/l/_KZ4muCY0gC9A
https://dl.doubtnut.com/l/_ElF5I9rgyV4a
https://dl.doubtnut.com/l/_zPKngN2gulxO

| o Watch Video Solution

164. Find the area of the semi-portion of the circle

$2+y2:4

° Watch Video Solution

165. Find the area of the region bounded by (i)

Yy = :134, x=1x=5 and x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_zPKngN2gulxO
https://dl.doubtnut.com/l/_2IAfJFcif6SI
https://dl.doubtnut.com/l/_jv6c996T7VFm

166. Area lying in the first quadrant and bounded
by the circle % + y* = 4 and the lines z = 0 and

r =2is:

>
)

o
IR E

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qENsbBXIeRbw
https://dl.doubtnut.com/l/_eVe1FiUO3FyL

167. Area of the region bounded by the curve

y® = 4z, y-axis and the liney = 3is

N @ >
N

O
N[O wloe | ©

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_eVe1FiUO3FyL

168. Smaller area enclosed by the circle
z? +y? = 4and thelinez +y = 2is:
A.2(m — 2)
B. =
2
C2r -1

D.2(m + 2)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NRsfT3Rp071A

169. Area lying between the curve y* = 4z and the

liney = 2x is :

B w R W~ W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FS2lDdSxAZVO

170. Area bounded by the curve y = z*, the x-axis

and the ordinates x = -2,z = lis:

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vz9tN650RVRv

171. The area bounded by the curve y = z|z|x-axis

and the ordinates x = — 1,z = 1lis given by:

0N ® >
o

O
Wk Wl W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Z6WTmmyvpf7U

172. (a) (i)Find the area of the circle z* + y2 = 16,

which is exterior to the parabola y* = 6z.

(4~ V)
(47 + 1/3)

(37— V3)

c.o|q> w|q> C.O|1-l> wlph

(87 + v/3)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_7VwN6gWdQylT

173. Find the area enclosed by the circle

22 4+ % =2

A. 4 sq.units
B. 24/27 sq.units
C. 4% sq.units

D. 27 sq.units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EIO1Tmup9TWI

2 2

x
174. Area ofelllpse — + 1—2 =1,a > bis:

A m2ab
B. mab
C.ma’b

D. rab?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PTP3RGLy0pkC

175. The area of the region bounded by the curve

y = z* and the line y=16 is:

A) 32
3

256
3

c3)6—4
03

D. 4) 128
' 3

B. 2)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yA1vn8d0qiaX

176. The area bounded by the y-axis, y = cos =, and

y = sinx when O

A. v/2 sq.units
B. (\/ﬁ + 1) sg. units
C. (v/2 — 1) sq.units

D. (2sqrt2-1) sq.units

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Rp5Oj1MMJag0

177. The area of the region bounded by the curve

z? = 4y and the straight line x=4y-2"is

A 5 it
. g Sa-units

B. — sqg.units
3 q

C. — sq.units
3 q

D. — sqg.units
3 q

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4HxKwFM4UYvB

178. The area bounded by the curve y=f(x), above

the x-axis, between x=a and x=b is:

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_a7XdaFLRn8N7

2

179. The area of the circle 2% + y? = a®is :

A. 7ra2

B.2ma
C.2ma?

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tIqH67JJpCxi

2

180. The area between the curve y = z*, x-axis and

the lines x=0 and x=2 is :

A 2 it
. 3 Sq.units

B. 4 sq.units
C. — sq.units

3

D. — sqg.units
3 q

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mGTwODJ1RttN

181. Find the area of the region enclosed by the

parabola y? = 9z and the line y = 3z.

1
A 2 sqg.units

1
B. — sq.unit
g Sg-units

C. — sq.units
A q

D. — sqg.units
3 q

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CkF8mYnVNoJ3

182. The area bounded by the curve y=4 sin x, x-axis
fromx=0to z = 7 is equal to:

A.1sq.units

B. 2 sq.units

C. 4 sq.units

D. 8 sq.units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1oytKkOdTZpf

183. The area bounded by

3
y=2—|2—z| and y = —is:

|z
A. 2 sq.units
B. 4 sq.units
C. 12 sq.units

D. 6 sq.units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Cb1kVhK3e7j

184. The area in square units of the region

bounded by y* = 9z and y=3x is:

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1KzNhaY1ic1F

185. The area of the figure bounded by the curves

y =€,y = e ? and the straightlinexz = 1is

1
A e+ —

e

1
B.e+ — +2

e

1
Ce+ — —2

e

1
D.e — — + 2

e

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5o6AnJ1zYRPu

186. The area of the region bounded by the curves:

y=z?and z = ¢’ is:

o Watch Video Solution

187. The area of the region bounded by the curves:

y=zx2andz = y%is:

W= |-


https://dl.doubtnut.com/l/_dMQSdLaE9UWy
https://dl.doubtnut.com/l/_UtEP2LaxzWQ2

Answer:

o Watch Video Solution

188. The area of the region bounded by the curves:

3 1 :
y=x,y = ;,x=2|s

A.4 — log, 2

1
B. Z + loge2

C.3 — log, 2

D15 log, 2
-~ loge

Answer:


https://dl.doubtnut.com/l/_UtEP2LaxzWQ2
https://dl.doubtnut.com/l/_odAT6f75blrY

° Watch Video Solution

189. The area of the plane region bounded by the

curves T + 2y2 = and x + 3y2 = lis equal to

Wl W= w| ot Wk

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_odAT6f75blrY
https://dl.doubtnut.com/l/_Gb5REJG1xYsX

190. The area of the region bounded by the
parabola (y —2)® = # — 1, the tangent to the
parabola at the point (2,3) and the X-axis is

A.6

B.9

C.12

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EdgML0uo3CI9
https://dl.doubtnut.com/l/_68Bm9MnMjTkY

191. The area bounded by the curves y=cos x and

y=sin x between the ordinates x=0 and = = 27 is:

A1) 42 — 2
B.2) 4y/2 + 2
C.3)4y2 -1

D.4) 42 + 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_68Bm9MnMjTkY

192. The area of the region enclosed by the curve

Yy =x,x = e,y = — and the positive X-axis is
T

1

A 3 square units

B. 1square units

3
C. 2 square units

5
D. 3 square units

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6tZBx5CiWGIe

193. If the straight line x=b divide the area enclosed
byy = (1—x)*,y =0 and = = 0 into two parts

Ri(0 <z <b) and Ry(b<x < 1) such that

R, — Ry, = % Then, b equals to
Al
4
Ll
"2
cx
3
o =
4
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FhjIoftZM6pm

194. Let f:[—1,2] — [0,00] be a continuous
function such that
f(z) = f(1—=z), Ve € [—1,2]. If

2
R, :/ zf(z)dx and Ry are the area of the
~1

region bounded by y= f(z),z = — 1, =2
and the X-axis . Then,

A R, = 2R,

B.'R_1=3R 2

C.2R 1=R 2

D.3R _1=R 2

Answer:


https://dl.doubtnut.com/l/_8JNaFjQxc1vF

° Watch Video Solution

195. The area bounded by the curves y? = 4z and

r? = dyis :

® >
sl el o

N

o
o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8JNaFjQxc1vF
https://dl.doubtnut.com/l/_gySAuXOTwOoR

196. The area bounded between the parabola

r? = % and z? = 9y and the straight liney = 2is

A. 204/2

104/2
B. T

20+/2
3

D. 104/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZoaC88BHvivh

197. The area (in sqaure units) bounded by the
curves: y = ,/x, 2yx+3=0, x-axis, and lying in the

first quadrant is:

A.36

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8EmYrgT5ibGN
https://dl.doubtnut.com/l/_lDHJcBrxu2vM

198. The area enclosed by the curves: y=sin x+ cos x

™
and y=cos x- sin x| over the interval [0, 5] Is:

A4(v2-1)
B.2v/2(v/2 — 1)
C.2(v2+1)
D.2v/2(v/2 + 1)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lDHJcBrxu2vM

199. The area of the region described by

A= {(a:,y)::c2—|—y2 <landy® < 1—z}is

>

o
N[ oY 3 ]

0

_l_
Wik Wl Wl Wk

o
+

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2DvQmjFTh0Ug

200. The area (in sqg. units) of the region described

by {z,y):y* < 2z and y>dx —1}is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2xcBubfwPvJE

201. The area (in sg. units)

{(z,9):9° > 2w

m2+y2§4x,m20,y20}is

A.7r—§

3
B.7r—4—\/§

3
™ 2¢/2
"2 3

D.7r—é

3

Answer:

of the

region

and

° Watch Video Solution



https://dl.doubtnut.com/l/_0WvSszDvUjrc
https://dl.doubtnut.com/l/_Zg5aCaYpFsUJ

202. Using integration, find the area of the circle

22+ =4

° Watch Video Solution

203. Find the area bounded by y=x, the x-axis and

the lines x=-1 and x=2.

° Watch Video Solution

204. Calculate the area undder the curve

y = 2,/ between the ordinates x=0 and x=1.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zg5aCaYpFsUJ
https://dl.doubtnut.com/l/_BHfoey2XxBrA
https://dl.doubtnut.com/l/_jugZt7Sdbp2I

wZ 2

205. Area ofelllpse — + Z—2 =1,a > bis:

o Watch Video Solution

206. Find the area of the region bounded by
y? =9z, = 2,z = 4 and the x-axis in the first

quadrant.

o Watch Video Solution



https://dl.doubtnut.com/l/_jugZt7Sdbp2I
https://dl.doubtnut.com/l/_p4oR4J8RaJhL
https://dl.doubtnut.com/l/_Xp9RiENiQKtU

207. Using integration find the area of triangle
whose vertices are

(-1,1),(0,5) and (3,2)

o Watch Video Solution

208. Find the area lying above x-axis and included
between the circle z* + y* = 8z and the parabola

y? = 4z

° Watch Video Solution



https://dl.doubtnut.com/l/_qIi3PXFALjAK
https://dl.doubtnut.com/l/_dNDnghFIe6Gd

209. Calculate the area of the region enclosed
between the «circles : z*+4+y*=1 and

(z —1)® + y? = 1 (using integration)

o Watch Video Solution

210. Find the area of the region in the first
quadrant enclosed by the x-axis, the line y = z,

and the circle z* + y* = 32.

° Watch Video Solution



https://dl.doubtnut.com/l/_q0czoTWl6H5h
https://dl.doubtnut.com/l/_vOeoDJWgIeDk

211. Find the area of the smaller part of the circle
a

2 2 2 :
x° + y° = a” cut off by the linexz =
V2

o Watch Video Solution



https://dl.doubtnut.com/l/_aECfyBenfThl

